LAW
Name & Signature of the Invigilator PAPER-II OMR Answer Sheet No. :

AUG-17/16
............... RollNo.:

(in figures as in Hall Ticket)
Roll Numberin words ; .........ccccovevmnevrarcnnnrenns

Time : 1.15 Hours| No. of Printed Pages : 28 . |Maximum Ma.r.k;: 100

Instructions for the Candidates

1. Write your Roll Number in the space provided on the top of this page. .

2. This paper consists of fifty {530) muitiple choice type of guestions. All questions are compulsory.

kR At the commencement of examination, the question booklet will be given to you. In the first 5 minutes. you are requested to open
the booklet and compulsorily examine it as below :

{  To have access to the Question Booklet, tear off the paper seal on the cdge of this cover page. [Jo not accept a booklet
without sticker seal and do not accept an open booklet. .

(ify  Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty
booklets due to pages/questions missing of duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correct booklet from the invigilator within the period of 5 minutes. Aflerwards, neither the Question
Booklet will be replaced nor any extra time will be given. -

(i) After this verification is over, the Test Booklel Number should be entered on the OMR Answer Sheet and the OMR Answer
Sheet Number should be entered on this Test Booklet.

4. Each item has four altemative responses marked (A), (B), (C) and (D). You have 10 darken the oval as indicated below on the comect
response against each item.

Example : @ . () where {B) is the correct response.

5. Your responses 1o the items are to be indicated on the OMR Answer Sheet under Paper — 11 only. If you mark your response at any
place other then in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.

7. Rough Work is to be done in the end of this booklew.

8. If you write your Name, Roll Number, Phone Number or pul any mark on any part of the OMR Answer Sheet, except for the space

allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such
as change of response by scratching or using white fluid, you will render yourself liable to disqualification.

9. You have to retumn the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry
it with you outside the Examination Mall. You are however, allowed to carry original question booklet and duplicate copy of OMR
Answer Sheet on conclusion of examination,

10.  Use only Blue/Black Ball point pen.

1. Use of any calculator or log table elc.. is prohibited.

12.  There shall be no negative marking.

13, In case of any djscrepancy in the English and Gujarati versions of questions, English version will be taken as final.

il e Yl :

o vl A g euldd] wsuml il Aa Auz aul. .
2. 4L U] g AR Bt R 415 YUY (40) Ml el D, sy el § 2P B . .
3 il agnue s eyRes et suadl, xe v () iz et adud uomyfiast vidl wid 52 Pradud g wllan
5q;: . L
Gy eyl e s 2 v saR el ik 42w dla st sl unil. SSua B e sz aair-l 3 ujeell nsyRest
wllsiz Al

(i) 5GP WR 9l FEMAAIR UaAYRelsirtt N, Y6 ol Ao o1 Astall el iy 3t (s b Fid WLy 2dlest
iy 'glcuz LA I, e HLaAL 2ot 515 52 5 G e AU A vt e YReast L ot Adl. A R ndlysa
w5ty Ret 5L Hofl @it ol (13180 el 2t o oflzw ) HaeyBetst Al Al v W2 GEaIR A i (u) Rl AU AL
wuadl, wifl ), Waay st sieacet »0ad 44 Y 06 amid wnonel wnani wad adl. .

iy vt sl s i vel, e yRa st 4642 OMR FaLsL Wots R AWl 24 OMR FUA WA 5oL 4R Wt (sl W dvel.

4, 3Lk WA ML AR FAU6L RSEY (A), (B), (C) 217 (D) SUMatui »ldd 8. d¥1d U st Uad (oval) A lE U Gels e Yord

Qriefl oy 1A Ayl e s2ud 284,
aka: B @ @ 1 wui (B) WAL ¥4 . ‘

5 2L MY el il oAl =1L o710l ol NN B OMR Ao YA sHL A2 -1 erviet Aoutnl % 240 441 A 2N OMR T
WoLsHi U B0AA (oval) s ird 24 ol vl 523l ol d ot Heuis sl vl il

5. iz A Y-l ei-yds il '

7. S13 513 (Rough Work) #etyRetsl-t di[FaH Y28 UL 639, . . . . .

8. o} 246U OMR a6t YA S Falct oul Rard 2ieq St 2us, »ilke i, e 40, Sl ol sHaL s 516 Bimgd el L 2l
wu o1y, vl 5210 2 viors ouni-d 1ot 52, dadl i 55 st waHiel GuHlo 30, Ik 53l 18a watsL ofll -uval
pade el GudisL sl oteadl di 2N ulmou sy e wd sl o )

9. 1Al aiy 434S o1 ous v dles-a OMR walel wois ¥ A RlasA s2zua il e 217, 51§ wot A A fanisl e ad
o ] wlau yof urnong GRetz ilooid w4y sl 44 OMR ¥ o sell gtz st ienell WA @S s 43 8,

10. e swiljeg) site dise 14 ayzdl,

11, desydan wia wi SAsgRs deilHl Guaia sl wus 8.

12, ullel sl M sl e les Jaiat da e, . . .

13w yBsit St Wi egate >3 A6 RagMadic v dl il Qi uiow aeudl.




Law-I1



LAW sS4l
PAPER - II Yur-I1

Note :This paper contains FIFTY (50) multiple-choice assertation/reasoning/
matching questions, each question carries TWO (2) marks. Attempt All
questions.
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1. “The Supreme Court has directed

the Government to take a fresh look
at art. 44 of the constitution which
enjoins the state to secure a
uniform civil code, which according
to the court is imperative for both
protection of the oppressed and
promotion of National Unity and
Integrity.” The above direction has
been given in one of the following
case : |

(A) Sarla Mudgal Vs. Union of

.India

(B) Noor Saba Khatoon Vs. Mohd.

Quasim
(C) Danial Latif Vs. Union of India
(D) John Vallamatton Vs. Union of
India
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“The power of the president under
Art. 356 is a Constitutional power
and is not an absolute power. The
existence of material is a pre
condition to form the satisfaction to
impose the president rule”. The
Supreme Court has laid down the
above guideline in one of the
followihg case : :
(A) State of Rajasthan Vs. Union
of India '
(B) S.R. Bommai Vs. Union of
India '
(C) Rameshwar Prasad Vs. Union
of India
(D) Sarbananda Sonowal Vs. Union
of India
Read the Assertion (A) and Reason
(R). Find the correct answer using
the codes given below :
Assertion (A) : In human and
barbarious treatment of the
prisoners is a constitutional
prohibition.
Reason (A)
Jurisprudence in India has
constitutional status.
Codes |
(A) (A) is correct but (R) is wrong
(B) (A)is incorrect but (R) is correct
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are incorrect

: Human rights
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Under the clemency powers, the

punishment awarded through a .

judgement is not over-ruled but the

convict gets the benefit of a

liberalised policy of a state pardon.
-Therefore the pardening power can
be exercised by the president :
(A) Only before the trial

(B) Only during the trial

(C) Only after the trial

(D} Before, during or after the trial
Right to privacy is availabie even

to a woman of easy virtue and no

one can invade her privacy. The

Supreme Court has held that right

to privacy is :

(A) a fundaméntal right without
. any restriction

(B) a fundamental right and an
" absoluite right

(C) a fundamental right under Art.

21 and'nof an abéolute right
(D) a fundamental right with
| restrictions claséiﬁed
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An order of the Supreme Court

under Art. 141, 142 and 144 is

binding on High Coﬁrt and if it is

flowted by the High Court it is :

(A) Not open to Supreme Court to
initiate contempt

(B) Open to Supreme Court to
initiate contempt

(C) Open to Supreme Court to

advice the erring judges

1)) Open to Supreme Court to

conduct an in-house enquiry
In order to revitaiise the Panchayat
Raj institutions and urban local
bodies, parliament enacted :
(A) The Constitﬁtion 69th and 70th
Améndment Act
(B) The Constitution 44th and 45th
Amendment Act |
- (C) The Constitution 73th and 74th
_ Amendment -Act
(D) The Constitution 42nd and
43rd Amendment Act |
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10.

 The .42nd amendment of the

Constitution which laid down ten
fundamental duties by adding :

(A) Part V-A to the Constitution
(B) Part IV-A to the Constitution
(C) Part IV-B to the Constitution

(D) Part IV-C to the Constitution

Austin’s definition of law may be

true of a :

(A) Modern democratic country
(B) Monarchié:al police state

(C) Parliament form of Governmient
(D) Intensive form of Government

The land or immovable property for

the beneficial enjoyment of which

the right exists is called :
tA) Servient heritage

(B) Dominant heritage
(C) Dominant owner

(D) Servient oWnér
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11.

12.

13.

Which of the following statements

is not true about the: concept of

ownership prbpounded by

Hibbart ?

(A) Righi: of using the thing

(B) Excluding others from using it

(C) Not to dispose of the thing

(D) Destruction of the thing

Positiire law is c.alled positive

because it is :

(A) Made as a result of divine
providence

(B) Made asza result of collective
effort

(C) Followed by everybody

(D) Made by a persoh m authority

Ownership to patent, copyright,

trademarks and right to an

easement is called :

(A) Corporeal ownership

- (B) Incorporial ownership

(C) Equitable ownership

(D) Contingent ownership

Law-II
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14." Who among the following thinkers - 14. i3 Usl s Ridy siasi wildsd,

15.

16.

divided the sources of law into

formal

© source ?

| (A) Salmond_

(B) Keeton
(C) Gray

(D) Allen

U.N. Commission on Human Rights -

was established in :

(A) February‘, 1946 |

(B) April, 195é

(C) November, 1971

D) March.,. 1975

The “Leagué. of Nations” ;vas
established :

(A) on January. 10, 1920

(B) on March 15, 1936

(C) on April 24, 1956

(D) on November 28, 1973

Law—_II
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17.

18.

The Secretary General of the United

Nations is appointed :

(A) By the General Assembly on

the Recommendation of the
Security Council
(B)
the Recommendation of the
International Court of Justice
(C) In ajoint session of the Secﬁrity
Council and General Assembly
(D) By the permanent members of
the Security Council
The main difference between

de jure and defacto recognition is

that the former is :

(A) Provisional and the latter is
definite

(B) Legal while the latter is factual

(C.) 'Info_rmal while the. latter is
formal

(D} Explicit and the latter is
implicit

Law—II
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19. Given below are the two statements,

One labelled as Assertion (A) and
the other labelled as Reason (R).
Match the correct :

Assertion (A) : International Law
is not a law.

Reason (R) : States do not accept
International law.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

20. Assertion (A) : Human Rights

occupy a significant place in the UN

charter.

Reason (R) : Members of the UN

have committed themselves to

promote respect for an observance

of human rights and fundamental

rights.

Codes :

(A) Both (A) (R)
individually true and (R) is the

and are

correct explanation of (A)
(B) Both (A) (R)
individually true, but (R) is not

and are
the correct explanation of (A)

(C) (A) is true, but (R) is false

D) (A) is false, but (R) is true

Law-I11
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21. Rules relating to Sapinda 21. a\{lsAeitic adict Fus........... Gur

relationship are based on : it 9.

(A) Principle of endogamy (A) »id[daisil Rigia

(B) Principle of exogamy (B) stidz [Qals-l Rigld (RRaws)
(C) Principle of polygamy (C) agucdla-i Rgid

(D) Principle of monogamy (D) sucllarl Rigid

22. Amarriage solemnized between any 99 . qaqaizl, 1955 -l set (i) - Gz

two Hindus in Violation of Sec. (iii) . . .-
21+l 3R Ul el 530 6 [+ a2+l
of Hindu Marriage Act, 1955 as to

eov[a® : '

the requirement of age, shall

be : | - (A) s19BuR WA

(A) Valid 3 2
) Vali (B) SlR514242 WA

(B) Invalid

C ey q 2'\\
(C) Voidable (€) eud-ly 34
(D) Void D) ad Wi

23. Remedy of Restitutional of Conjugal 23, @+t AR50l Yrt:Re -4l Gu1y

Rights is available to : 1 Hd 9.

(A) Wife : (A) ucil

(B) Husband | (B) W

(C) Wife and Husband (C) uefl 24 ufa

(D) Only husband and not wife (D) 85 uld w yeflA ]
Law-II 12 |



24, Marriage under Hanafi law must be

25.

performed before the following

witnesses :

(A) two male or two female
witnesses

(B) two male or one male and two
female witnesses

(C) two female witnesses

(D) three male witnesses

Assertion (A) : Bigamous marriage

is void under Hindu law.

Reason (R) : A child born out of

void marriage is legitimate child of

his parent.

Codes : |

(A) Both (A) ﬁnd (R) are true and
(R) is the correct explanation
of (A) |

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Law-I1I
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26. Match the item from list I with the

1tem of list II and choose the correct

answer from codes :

List I
(@) Seema Vs. Ashwin Kumar
(b) Harvinder Kaur Vs. Harminder
Singh
() Gopala Krishna Vs. Mithilesh
Kumari -
(d} Rekha Rani Vs. Narinder
Mohan
List II
(i) Nature of Institution of Hindu
Marriage
(it) Desertion

(iit) Registration of Marriage

() Cruelty

Codes

@ & © (@
A & GG G G
By (i) (ivj @ @
© G G 6 )
D @ G @ i)

Law-II

26.

14

dl2 T it vl [Gotdin dlze 1T i 2l
[oLdl idl Ast v sis-l deedl il
el LML

List I
(@) A Q. sadla iR
() elder sz a. ¢ller Rl
€ Awa sau @A BRAY gudl
(d) ihu AA [ AlRe Hiwn

List II
@) Reg @t e &
(i) (AR |

(iif) @d-l ~iash

(iv) #rdl
518 :

@ ® © @
B O @ G G
B G W G G
© @ @ © 6@
O G @ O G



27. Choose the option which is not

28.

(B)

B)

appropriately related to the effect of
delay or loss of letter of acceptance

in postal transit :

(A) The acceptor is not bound by

the letter of acceptance till it

reaches the offeror

The acceptor can compel the

offeror to enforce the contract

()
acceptance by communicating
his revocation at any time
before the letter reaches the
offeror

(D) Untill the letter of acceptance

reaches the offeror the contract

remains valid

The inadequancy of consideration

will be taken into acocunt by a court

of law : |

(A) When the promisor performs

his promise

When the promisor expresses

his desire to get maximum

" return for .his promise

(C) When fraud, coercion or undue

influence in the formation of

contract is pleaded

(D) Solely at the discretion of the

court

Law-II

The acceptor can revoke his -

28.
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929. Match List I with List IL Select the 29, el2e I 24 clz2 IT 4 RSk, 42 oeuda

correct answer using the codes given £1S1L Gualdl s AL Yo, Wl ¢
below the list : : ' List I
List 1 @ oidl
(a) Breach
() suirll

(6) Damages . N
8 (c) ssdl [A. olgi-sa

{¢} Hadley Vs. Baxendale
' (d) [aldre wax
(d) Specific performance
- List II
List 11
| @ sl g0l

() Remoteness of damages

@) [adsiBga

(i) Discritidnary

i) afayzs

(iii) Compensatory

- (v) Damage (iv) s

" Codes - | 5iS
| @ ® © @ @ ® © @
@& G G ® G @ G G 6 G
® G O G G (ﬁ) G O G G
© G G @ 6 © G G | @
O GiE) | @) @ G (D). (iii). @G @ G
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30. A right to sue on quantum meriut

31,

arises :

(A) When a contact is discharged

by the other party

(B) When a party fully performed

the contract

(C) When a party partly performed
the contract and is discharged
by the other party

(D) When a contract becomes illegal

Consider fhe follov;ring statements

about an offer :

(1) Quotation of price is an offer.

(2) A counter-offer terminates the
original offer

(3) Acceptance to an offer is like a
lighted match to a train of gun
powder

of thése statements :

(A) (1), (2) and (3) are correct. .

(B) (1) and (3) ére correct

(©) (2) and (3) are correct

(D) (3) alone is correct

Law-I1
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30. utufd il sl 658 U Godet WA

31.

%

(A) a1 ofl% u&tén 52URAL i @

(B) %R wasi? sy Ayel wiar 52

(C) 2R WasIR 512 e wen 53
2 oflR vas s ¥d @d

D) U U AU 6
WAL Gllotd .r[lilfu Qe wud ol :
1) edad was B evurd 8.
(2) andl svRd 3 YA evdA
- esildd ol B

(3) eavlizdl 25z 3 oolasdl audA

N

Rl 2wl Sl 8.
Guisd Rad 4

(A) (1), (2) 27 (3) WAl &
B) (1) ¥A (3) Wl §
(©) (2) 27 (3) WAL 8

D) $5d (3) W3 9
[P.T.0.]



32.

33.

34.

For a binding contract, both the

parties to the contract must :
(A) Put the offer and counter offers

(B) Agree with each other

(C) Stipulate their individual offer

- and consideration
(D) Agree upon the same thing in
the same sense

Liability in tort depends upon :

- (A) Involvement of intention

(B) Infringement of legal right

(C) Quanﬁum of damages suffered

(D) Effect on public right

Which of the following statement is

correct ?

(.A) An innocent principal is liable
for the fraud of his agent

(B) An innocent principal is not

liable for the fraud of his agent

(C) An innocent agerit is liable for

all frauds of his principal

(D) None of the above

Law-II
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32.

33.

34.

6l S SAUT H2 SRR oA, QSR :
£ 2mie 243 el s vz ugl sidl
5]

Aol AS AHd ug ASA

(A)

(B)
(C) Mlctuistull 2aicial g uiad 24 w2y
ol .3:’.:{1 A5

AS% A A 5% el AMd 4
AR
gl weoel ]

(D)

Gu aaa

B

8.
(A) Sust-l Asiasl

(B) sigll vRs-1 oidt

(©) gsaulldl wWial ued s34
(D) A2 AN QU 2wAR

ARusiell 53 Reuq wy &2

(A) %=edi eoU 2 [Fely yuysdl
YASELR B

(B) ﬁ%aqi el W [RE™ yuwysal
FALLLELR -1_9-[[

(C) idirli Yuasdl-i tHI 89U Y2 ey
A2 AAGELR S

(D) Gua-nmiell 15 yo 4]



- 35. Match List I with List I and select ~ 35. ell22 T4 cllze II L st w4 1A onaudet

the correct answer using the codes

given below :

(a)
(b)
(c)
(d)

@
(@),

List 1
Damnum sine injuria
Injuria sine damnum -
Inevitable accident
Absolute liability

List II
Ashby Vs. White
Stanely Vs. Powel

(#i1) Rylands Vs. Fletcher

(iv)

Codes :

(A)
- (B)
(€
D)

Gloucéster Grammar School

@ ® © @
() @ G @)
() ) (iv) €3]
G G G @)
(w) @ @) (D)

36. The general remedy in law of tort

8 :
(A)
B)
(C)

(D)

Law-II

action for pre-determined
damages

action for injunction

specific restitution of property
action for unliquidated

damages

19

36.

sisl Gualal 531 A L CICERE A

-

520 ¢

(a)
()]
()
(d)

NG

(i)
(iit)
(iv)

51S

(A)
(B)-
(©
)}

List 1
sUA Qi s
dseid (Al el
wlAcid s
MR8 wateielll

List | )
el [, e
wedl Q. vide
A [@. sdur
dIBARRR AHR E

111

@ &) (c)
@O G Gi)
G) G Go)
Gi) G O
@ @ G

(d)
(iv)
@)
(@)
({ii)

piugedl SUeIHL AP GUAR A

(A yd-Rallzd gsud-dl s &

(B)

HSgsudl sl 8

(C) [esa-l [Alre yulta

D) M gs- and-l gl

[P.T.O.]



37. The rule of strict liability :

(A)
(B)

(N

(D)
38.

1s without any defence

has act of God as a defence
has contributory negligence as
a defence

both (B) and (C)

Which of the following statements

are true ?

1

(2)

(3)

4)

If legislature .has

authorised the doing of an act,

the

no action can be maintained for
that act ,

An act is not actionable as a
tort at the instance of any
person who has expressly or
impliedly consented to it

The exercise of ordinary rights

lawful manner is no wrong.

A mistake of fact is no excuse,
except in the cases where
motive is an essential
ingredient constituting the

Wrong.

Codes -

(A)
(B)
(©)

(1), (2), (3) and (4)
(2), (8) anid (4) _
(1), (2) and (3)

D) (1) and (2)

Law-II

37.

38.

for a lawful purpose and in a

20

Yt atelel - Ml

(A)

(B)

(O
(D)

siSu o A9l
ey ¥ A 9
A s—GUAL 3 oA1a

(B) »i1 (C) ¢i+

At U4 s RQaun e 97

(1)

(2)

(3)

@)

¥ sl 52l M2 s1UeldA gl ATl
iyl »udl gy, d sl wn siS
wlel @ usiy At

2td 514 AHugd a3 eldi 520 Yioan

AL, A 2L s w2 ofley ulZddl

Az wadl A6{d quldell ay ¢l
ALY, w557l GUUlaL SRR dg

R

HI2 ¥ 5B T 24l €l dl d
pUstR ef}

elssal oy s ol Riqia 3 Ry
(3240 3 i U812 HI2 &g vy

ded iy

51S -

(A)
(B)
(C)
(D)

(1), 2), @) A @)
2), (3) ¥ (4)

(1), (2) vn, (3)

(1) ¥ (2) |



39. When in the committing of theft,

40.

hurt or wrongful restraint is caused
to the person, the offence is .........
(A) decoity. |

(B) robbery

(C) extortion

(D) theft only

A, a small boy was guarding the
field, B and C outsiders trespassed
and started harvesting, on the
protest by A they beat him and on

hearing A’s cries, R and S, uncles

~ of A, who were working in different

directions, rushed in S, fired at the
trespassers killing one of them and
run away. R was arrested and
charged under section 302 of IPC
for murder read with section 34.
Which of the following statements
is correct ?
(A) He is not liable because there
was no common intention to kill
(B) He is liable for murder because
of the same intention of both
the brothers
(C) He is liable for murder becuase
of the similar intention of both
~ the brothers
(D) He is liable for murder becuase
he was present when his brother
forced at the trespassers

Law-I1

40.

39. o3 W sl aud, 515 Al3d Wa @@
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AL ASULUR HAIY STUHL U,
dl a9yt

(A) s

(B) de o

(©) @S] salag

D) 851 ATl

A, -iitl 918 :[1 WA Wl ¢ddl, B 244
C el n-ilfsd Albdal vdl
naell wsdl stuell 53 8. A 2l Q1A
sl Avll A MR 8. A 4 36t el
R 7L S %2l A - 5151 ol Bl 514
s2dl edl Ayl elsld &l »id 8. S
AR A S2URL UR Ol 1S B
217 2t-ell g WAl A5 1

. onell tois-1R eigl MU 8. R [l ez uss

5L 214 & wid drll U IPC Al say

302 i 34 &8 vt delyd Ysul

28 8, 2L ded D& sl 5y [Qau w3y

&7

(A) A oraeislz 4l 5139 5 2 MR
Wl Aysa sl Al

(B) & M HIZ FAULBIR B, 5129 § 6irt
el Mgy S8l B

(C) A virl W2 WAULNELR €, 518 5 oid
oSl vl SUL &

(D) AVt HI2 FAGIELR B, 5L S %A1

Al oUSR BrrizAliga N 54UR
W2 AR sdl AU A e edl

[P.T.O.]



41

42.

(3)

Under section 102 of IPC the right
of private defence of the body
comimences :

(A) as soon as a reasonable
apprehension of danger to the
body arises and continues even
after that apprehension causes
as soon as a reasonable
apprehension of danger to the
body arises and continues as
long as that apprehenswn
continues

only when the assault is
actually done and continues
after the assailant left

only when the assault is
actually done and continues
during the period of assault
Under Section 149 of I.P.C. if an
offence is committed by a member of
the unlawful assembly in furtherance
of their common object :

(1} Only the person committing the
offence shall be guilty of that
offence and all shall be guilty
of unlawful assembly only.
‘every person who at that time
was a member of that assembly
shall be guilty of that offence.
only that person committing the
offence shall be guilty and

(B)

(C)

t))

(2)

- 41,

others shall not be gu11ty of any

offence..
Select the correct answer using the
codes given below :
(A) Either (2) or (3)
(B) Only (2)
(C) Only (3)
(D) Both (1) and (3)

Law-II

42.

- {2)

22

(©

IPC -l 544 102 »iad 912 ud-

--------

- w{As-l uzpia

(A) ¥l a1 el edud Gt iy

AU, i 2l edadl ¥d b
ugl uat

(B) &<l 911 syl edad Gout 2y

w4 2l edud Al 8 Al ydl
AT WU gHAl YUl ¢l wid
SHOUMIR ARl o ussl vl

(D) 2 WM gHel 8l a2 wul

el el wy W Al Yl
IPC -l sau 149 »i=ad o1 2514242
Hsullel 5165 AU AHrAL Y s SAEA WR
YISAL el 53t
(1) 3L 2 §5d ¥ a3 At 52 8
A YAUNELR B 2 6l Sl Hodl $5d
RHULAR HSUL M2 AAGEIR
£35 Ald ¥ %l ¥l At D]
2Lell HsullAl Ao gl Al O\L'il He
AUREIR €
S5 F Al vl ol $Ul & d wanLIR
8 i GlSlHL SIS et M2 FUHELR
&fl
DA Sisl Gudian 530 wall wao
alal
(A) s dl (2) 2 (3)
(B) $s5d (2)
(C) §54 (3)
D) s (1) 1 (3)
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'43. A inserts his hand into the pocket

44.

of B, he finds the pocket to be empty.

A is guilty of ...........

(A) theft

(B) mischief

(C) attempt to commit theft

(D) no offence as the pocket was

empty

Assertion (A) : Crime is

punishable because it is provided in

the law.

Reason (R) : Crime is revolting to

the moral senée of society.

(A) Both (A) and (R) are true but
(R) is not a correct explanation
of (A)

(B) .Both (A) and (R) are true and
(R) is the correct explanation
of (A) |

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

Law-I1
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43. A Widldl sli B At BRuMi 4 8 ust

By vucl WA 9 A .......... Al U2
AQUOLELR .

(A) AR

(B) @il adl Gusq

(C) A sl Hderd

(D) 518 -l -2l si@ & By viell eg

. [Py 5o (A) 2 4l A2 Wt ) 1R

% siuei wdl Aaas 9.

S (R) 2 3l A el Al v

ARAL el 8.

(A) i (A) 11 (R) a1 6 w2 (R)
(A) fl l wxdl

(B) ¢n (A) @A (R) WA 8 21 (R)
2 (A)  well wierdl

©) (A) vié & o (R) w3y &

(D) (A) Wy & wa (R) W &
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45.

46.

Read Assertion (A) and Reason (R)
using codes given below, select
correct answer :

Assertion (A) : Strike is stoppage
of work by workers to press
management to meet their demands.
Reason (R) : Every worker has
fundamental right to go on strike.
Codes :

(A) (A) and (R) are true and (R) is
the correct explanation of (A)
(B) (A) and (R) are true, but (R) is
not the correct explanation
of (A)

(C)

(D)

(A) is true but (R) is false
(A) and (R) are false

The verdict of the labour court
under the Industrial Dispute Act is
described as :

(A) Judgement

(B) Decrée

(C) Award

(D) Order

- Law-II
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45.

46.

[fsuy sud (A) 210 51290 (R) <l

Al Sis-1l GualoL 53 Wk el el :

[L2ay 52, (A) 1 eScte 2 SELR] gLRL

sidoldll &, ¥ couell wiels dwii-l

Hioell AN,

518 (R) : e35 sl ssdig uz

wdirdl Hoeid AR B,

5iS

(A) (A) 2 (R) 0 & 2471 (R) 3 (A)
Al waHydl &

(B) (A) % (R) Wl & wa (R) 3
(&) Al el wigdl o0

(C) (A) 1Y % wa (R) i@ 8

(D) (A) ¥4 (R) wiai &

Sreadludt Slanye Bise d5u HogR Melad

»le [(Fofut a3 vilvvy @,

(A) ysiel
(B} gsM-uy
(C) »als

(D) 4™



47. Match the following :
List I
(a) Indulstry
(b) Strike |
(¢) Continuous service
(d) Appropriate Government
List II
@ Air India Statutory
Corporation Vs. United Labour
Union
(i) Management of standard
motors products of India Ltd.
" Vs. Shri A. Parthasarathy
(iii) Bangalore water supply and
| sewerage Board Vs. A Rajappa
(iv) T.S. Kelawala and others
Codes -:
@ ® © @
@ @ 6 @ G
B @ @@ G @)
© @ @ @ @
o @ @ O @

Law-I1I _ : 25

47. AL 2Assl Asi

List I
(a) ‘:S-"S%ﬂaﬁ
(b) eSdln
() ¥dd Aat
(d) v ARSIR
List II
@) R Seslun wedl siulaq [,
gm&s‘ otz gfust
i) Anoriwe viis 22175 Mier Missey
wis Seslur dlx{l2s (. sl ».

JIEEEE]|

(@id) Sl dler Ay, s Alalos oiis

&, 2.

() &L Feudel s wHaRd

$ts -

@ ®) () (d)

A @ 6 @ G

® © G G )

© GiD @) - @ O

® @ @ O 6@
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48.

- 49.

Collective bargaining serves one of
the following purposes :

(A) Regulating wages and other
conditions of services

(B) Preventing strikes in public
utility services

(C) Regulating labour
management relations

(D) Preventing unfair labour

practices .
In which of the following, the
members of the trade union can
claim immunity in criminal cases ?
{A) The combination of two or more
members of a registered trade
union act with an intention to
create loss or damage to the
properties of the employer
(B) The trade union office bearers,
in exercise of the managerial
powers direct the workers from
abstaining to do the work for
personal reasons
(C) The combination of two or more
members of a regisfered trade
union act in furtherance of a
trade dispute
(D) The members of a trade union
act in combination with an
intention to coerce the employer
to aceed to their unlawful
demands

Law-II
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Rg 53 © :
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50. In order to claim wages for the

period of strike, the strike should be

legal as well as justified. This was

laid down in one of the following

case by the apex court :

(A)

Ballarpur Collieries Vs.

C.G.LT. Dhanbad

(B)

(C)

D)

Law-I1

Crompton Greaves Vs. The

Workmen

Workmen of Motor Industries

Co. Ltd. Vs. Management of

Motor Industries Co. Ltd.

Management of India Radiators

Ltd. and another Vs. Presiding

officer and another

50. wSAlOl AHAUAL Q- Hoadldl 855 M2,

@5l SUEUR A alofl widl sdul.

ST ﬂ_ﬂ s 3 3l S 2 wauld

sy :

(A)

(B)

(&)

(D)

Aeuryr siadls (@, dl.ow.2u8.4.
Tk

siued slian @, 4l afin

QSR 2lis Hi2R .5-"52{[3‘; $ ks
Q. Adopiee ¥iis e §-slo §
dhlies

qAoaiee 2ils Sroluy A
fizs Aes wud [ Brussia

wiZu s uad

[P.T.O0.]
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